Thursday Answers
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24 + 244 = 268 254 - 44 =210 87 + 365 = 452 875-65=
810

542 + 635 = 1177 863 -135=728 785 + 326 = 1111 654-235 =
419

XX

654 + 435=1089 986 - 465=521 547 + 431=978 953 -
165=788

376 + 949=1325 838 - 183=655 927 + 799=1726 789 -
298=491
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654 + 467=1121 986 - 497=489 547 + 488=1035 953 -
165=788

1376 + 949=2325 2838 - 189=2649 1927 + 1799=3726
4789 - 1298=3491
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2. Rows of coins
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1. 5p 2p 20p 1p 10p .
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1. Take five coins: 1p, 2p, 5p, 10p, 20p.

Or Put them in a row using these clues.

The total of the first three coins is 27p.

The total of the last three coins is 31p.

The last coin is double the value of the first coin.

Each of the above orders may
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appear reversed’ 2. Take six coins: two 1p, two 2p and two 5p.

Put them in a row using these clues.

Between the two 1p coins there is one coin.
Between the two 2p coins there are two coins.
Between the two 5p coins there are three coins.




